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6/7 or 70 paBHO *
4/* or 30 paBHo 24
*/3 or 15 paBHo 10
9/11 ot * paBHoO 18



PeXXum OHSA

1. CoH - 1,5 pasa bornbuie —
2. 3aHATUA B LLKONE -25% CYTOK  <—'<=—
3

. [lporynka -1/6 CyTOK
4. [logroTtoBka oM 3agaHug -5/18 ot
5. docyr -1,8 OT
6. [lpocmoTp TeneBnszopa -1/6 0T
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PUSKYIIBTMURY T
KA

YETHOE - PYKU BBEPX ﬂ‘
HE HETHOE -NMPUCECTb .
AOENATCA HA «5» - PYKU TNEPEA
COBOW

S e




OTBeTHI

K caMOCTOsATENbHOM paborTe.

B-1

3agadya — 36 Y
npumepsnbl:15; 2,8; 36; 0,12

B-2

3agadva-—110,1 oo
npumepnbl:36; 0,357; 24,5; 2,58



